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2020 e E A A 2 F § o 25‘.@"%&&':1‘%% %ﬁ%
102 10p (&2#H=) 06:30 422

W R mw Ak P FAEW EE A

1 07:00 *=F 50 &=  5000M g R4 ERLA
2 07:00 *=+% 60 &=  5000M s R4 ERLA
3 07:00 ¥ 3% 60#&%  5000M s FTAERTA
4 07:00 9 +%= 65&%  5000M g FI1 A, #HEBA
5 07:00 9 +%= T70&%=  5000M s 34, ERIA
6 07:00 9+%= 75k  5000M R *3 A ERIA
7 07:00 932 85&x=  5000M g F24A,FB2A
8 07:50 ¥ +%2 T0k= #4(K6) s FTABTA

9 07:50 ¥ +% Thpe #4KE) s x 34,234

10 07:50 9§32 80fkx 4 (1K6) s £64,56 4

11 07:50 ¥+ 90,z 4 (1K6) s 34,234

12 07:50 4=+ = 30#&x2  5000M s LA ERLA
13 07:50 4=+ x 35f&x=  5000M g x oA, RO
14 07:50 *F%= 40#&%=  5000M g FA4AERLA
15  07:50 3= 45f&%=  5000M s R4 ERLA
16 07:50 9 3% 55 &%  5000M g 164, &HBEBA
17 08:00 ¥ 3% 70kl BHE g £04,B0 4

18 08:00 % +& T5pkE  BuE s £ 34,534

19 08:00 9+ 80f%k= BE - 24,24

20 08:00 ¥+ 8kl  pE - 1A,

21 08:00 ¥+ 90k prE - 24,24

22 08:00 ~+= THpE 4 (4006) s F 24,24
23 08:00 ~+= 80Fk= i (4006) s 14,514
24 08:00 *~-+= 8 k= %4 (4006) s 1A, B~14
25 08:20 *~+x 60%x %4 (500G) s £ 34,534

26 08:20 *~+x 65Fk= i (00G) s £ 24,324
27 08:20 ~Fx T0gkE R (500G) AR 14,514
28  08:20 F-+x 40pkx=  5000M g * 144, BB
29 08:20 F-+= 45pkx  5000M g »8A, HEBA
30 08:20 ¥+ 50#&=  5000M s F0A,EBOA
31 08:20 *3& 50f&=  4£#(5006) - E 4 A B4 A

32 08:20 3 55%&m  H4(5006) o EE IR N IS
33 08:50 ¥+ 24 %= 5000M s 40 ERL
34 08:50 FF+w 25f%kx  5000M R x 0 A, EBOA
35  08:50 F+= 30pk=  5000M g F24A B2
36  08:50 F+= 3= 5000M g FI2 4, HBBA
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L N R SR S T ST ST 2T T T ST S SR SH - S R
Y Y X B X D 1 X X O X D X I X D IS S I

NgoNg dg dg g Ng NG NG Ng g dg dg g Ng dg dg Ng g dg dg Ng

4

55 A& gk s E QA B4
60 ke BriE e £ 84,584
65 e prid R ETA, BT
30 gl %16 (6006) s 1A, B4
3o gz 4 (6006) s £ 34,34

40 e 4548 (6006) e E QA B2 A
45 pe e 1516 (6006) - F E4 x40
60 & 2 4B (1KG) iR 2T AL BT A
65 k2 44 (1KG) o £84,784
50 g le 43R (3KG) s £ 64,564
55 fu e 453k (3KG) o R2A,B24
60 & e 4.3k (3KG) s £24A,24
65 e 453k (3KG) o £ 54,854
75 g 43k (3KG) g 14,214
25 fie Bt F g 214,514
BdfRE BB A F 14,14
45 ke BB s F1 A1 4
55 i B ey 214,311
65 fie B o £ 64,56 4
0 ke BB s £1 4,814
Tk R T H 34, B34
90 e B3 i 1A, B~14

N L

100M ERLERY 5

24 e 13 4,4 2%, #&E8
25 A& 100M PREAE £ 134,428 #ES
30 Az 100M s ETALRET A

40 fe 100M PEAF E154, 428 EES
50 A R (T006) AR 294,584

55 KRB (T006) iR 254,554

35 A& 100M PREAR £124, 422 BES
45 e 100M PEAR E134, A28 BES
50 & & 100M PRERE £ 164,420 % ES
55 A& e 100M e KB AL ME6 A

60 A e 100M PEAR E124, 428 EES
65 & & 100M s £ 8 AL MRS A

70 = 100M g x84, FERBA
75 gz 100M i £ 54, FEDH A
24w B - 14,514
25 fele B R £ 24,524
30 e ik e £ 14,8 4
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76 10:15 3k 3DEE PR g 24,24
T 10:15  FHm A0 Rm B o £ 54, P54
78 10:17 ¥ F e 80 &= 100M o £ 34, BB
79 10:17 ¥ 85K&k=  100M s 214, 8B
80  10:17 32 90F&=  100M s E2A, IR
81 10:20 + 3= 24,2 100M g 1A, H&BR]
82 10:20 43 %= 25X 100M g 244 EFRA
83 10:20 32 H0fkE BB s L6 A,B~064
84 10:20 g3 bHOhEkiE BB o 4 A B4 A
85 10:20 32 60k BB s £ 3A,B~3 4
86  10:20 *F& 25k® 43R (4KG) AR 214,14
87 10:20 + 3% 35g,ie 43R (4KG) s EH A, BrH 4
88  10:20 *F& 40A&® 43R (4KG) e 4 A B4 A
89 10:20 + 3% 45, 43R (4KG) g 4 A B4 4
90 10:23 43 %= 30g,x  100M s EH5AHEBRD
91 10:26 43 %= 352  100M s L3AHERS
92 10:26 4 3= 402  100M s L3AHERS
93  10:29 +3 & 45%k=  100M s £ 64, HE6
94 10:32 43 %= 50, 100M s 1A, &R
95 10:32 43 %= bLHbhgie  100M R E3AHERS
96 10:32 43 %= 60X 100M g 224 BR2
97 10:35 43 %= 70X 100M g 1A #&BRI]
98 10:35 43 %= T5g,xe  100M s 1A ERI]
99  10:35 +3 & 80 &=  100M A 24, B2
100 10:35 +3 = 85&=  100M B £l A, 8B
101 10:35 9§33 % 25k 1£4#(800G) AR E QA BQ A
102 10:35 g3 30Kk &4 (800G) AR H2A,B2 A
103 10:35 g3 3D & 8006) g x84, B~8 4
104 10:50 4+ 45 &= SOMHCO. 762M) A% 1A #&BRI]
105 10:55  ~ -+ 70 &= BOMHCO.682M) A% 1A ERI]
106 10:55 3 70k 8OMH(0.762M) - £ 34, RS
107 11:00 432 30#%x  100MHCO.840M) % £ 1A, 8B
108 11:00 43 354  100MHCO.840M) % L1 A, 8B
109 11:05 7+ 60 &= 100MHCO. 840M) % E2A,BR2
110 11:05 7+ 65pkx  100MHCO. 840M) % E0AHEBRD
111 11:10 7+ 50 &= 100MHCO.914M) A% ETAERT
112 11:10 7% 55k 100MHCO.914M) A% 1A ERI]
113 11:15 3% 30k  110MHC0.991M) - £l 4, HE]
114 11:15 3% 35k  110MH(C0.991M) A £l A, 8B
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115 11:15 932 40 &2  110MH(0.991M) s+ % 294 BB A
116 11:15 %32 45%%  110MH(O. 991M) /-3 VRS ¥ YR
117 11:25 735 % 40/&= 4 8000)  AF £ 84, P84
118 11:25 932 45&x  HH#(8006) A% £10 4,58 «

11:30 B %2
WK 1L 020 9 0 TS IR S B R R P 4 8D R o R
SHAR B AN ¥ FEL LMEFEEL HAGEFH O
PyrE s e H
107 108 12:00 fkA™> RPFE 12530 38 < i bk £

119 13:00 *3+%2 702 43(3KG6) s F 24,224
120 13:00 % +x 80f&x  &3:(KG) o £ 44,544
121 13:00 9+ 90f&x  43kCKGE) s £ 24,324
122 13:00 9+ 30fkx #4&2KG6) g 14,514
123 13:00 932 3Hpke #H&ECKE) g 64,564
124 13:30 932 24pkx=  400M s »3A,EBE3A
125 13:30 932 252 400M s F3A,ERIA
126 13:30 *F%2 24k BB s 14,514
127 13:30 ~3Fx 25 ke Mg s £ 24,524
128 13:30 +~+2 30fkxe B s 34,34
129 13:30 +-+& 3kE @R - 24,24
130 13:30 +~+2 40fkxe  pE s £34,534
131 13:30 932 40fkxe  #&2K6) g 134,784
132 13:33 932 30fkx= 400M s F0A,EBOA
133 13:36 932 35fkx=  400M s =04, EROA
134 13:39 3 +x 40f%x=  400M s =04, FEEDA
135 13:40 % +% 26fkx B3 s 14,514
136 13:40 3 F+x 30f%kx B3 AR 14,514
137 13:40 F -+ 3HFkxE  p3 g X 24,24
138 13:40 FF+e 40fk= B3 g 64,564
139 13:40 9+ 45Fk= B3 s x 04,04
140 13:42 932 45fkx=  400M i =64, FB6 X
141 13:45 3+ 2 50 %=  400M s 40 ERL
142 13:48 3+ % 55 fkx  400M s 84, HEBA
143 13:50 ¥+ 45 @ &3R(7.26K6) A F £ 12 4,584
144 13:51 3+ 2 60 %=  400M g 1A ERTA
145  13:54 932 65p%kx=  400M s FTAERTA
146 13:57 2 T0Fkx  400M s F3A,ERIA
147 13:57 3= ToiFklk  400M s F2AER2A
148 14:00 7 +x 80 &=  400M s 3 A, ERI
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149 14:00 95 = 90 &= A00M AR £ 94 2
150  14:03 ~3%= 25&2  400M A 214,851
151 14:03 ~3@ 35%&=  400M g £ 24 D
152 14:06 ~3@ 45%&%  400M o £ 54, 85
153 14:09 ~3 @ 55&%2  400M A 214,85
154  14:09 3@ 60&Z  400M g 214,85
155  14:09 ~3@ 80 &=  400M AR 214, R
156 14:20 +3 % 45k% ik A RIS VIR
157 14:20 3% 50k% Bk A 214, 4
158  14:20 +3 % 55k&k% Bk g 24, 4
159  14:20 +3 % 60A&m  priE A 214, 4
160 14:20 +3 % 80A&kw Bt g 24, B A
161 14:20 +3 % 85k% Bt A 24P 4
162  14:25 ~3@ 304&=  1500M AR 214, R
163  14:25 ~3 @ 35%&=  1500M A 214, 8]
164  14:25 ~3 @ 40 &= 1500M A 204 BB
165 14:25 ~3 @ 45%&=  1500M g £ 54, &5
166  14:25 ~3 @ 50w  1500M g HERE T ¥
167 14:25 +3 @ 60 &= 1500M g 214,85
168  14:25 +3wm 70 &= 1500M AR 224 BE2
169 14:25 93 @ T54&x  1500M A3 214,85
170 14:25 9% 804&=  1500M AR 214 85
171 14:25 95 %@ 85%&=  1500M A 214,851
172 14:25 95 @ 90&=  1500M 7 214, EE]
173 14:30 95w 454&m 4B (2K0) A 294, Pg A
174 14:35 93w 24%&=m  1500M g £ 34, BE3
175 14:35 935 @ 25%&x  1500M AR 224 B2
176 14:35 95 %& 304&=  1500M AR 214, R
177 14:35 93 % 354&%  1500M AR £ 54 FiED
178 14:35 954 404&=  1500M A £ 84, BES
179 14:40 75 & Uk &3R(T.26K6) A F 214, B 4
180 14:40 93 25 & Ask(T.26K6) AR 24, A
181  14:40 93 30 &m  Ask(7.26K6) AR 4B
182 14:40 93 35&km  Ask(7.26K6) AR 2TA BT A
183 14:45 93w 45%&%  1500M AR £ T4 ERT
184 14:45 93w 504&=  1500M A 2T BET
185 14:55 934 55%&=  1500M A £ 84, BES
186 14:55 95w 60&=  1500M g RS T %
187  14:55 9§53 % 65 &= 1500M A g £ 54, &5
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188  14:55 9@ T0/&Z  1500M AR VRS ¥ YR
189 15:10 +3m A& 400 24 AR F TP E AR
190 15:10 93 % 50k&k% B g £ T A BT A
191 15:10 932 50 &= 4EG(1L5KG) AR £ 84, g4
192 15:10 ¥ 3% 55k Mei(1.5KG) A £5 4 B 5«
193 15:30 9§53 fiEdew 400 244 R oo LR
194 15:40 93 A0 &= 4sk(T.26K6) AR £ 15 4, B8 «
195 15:50 93 454&km  prif A% £10 4,58 4
196  16:00 3@ 35&k=  5000M k4 AP 214, BE] A
197  16:00 3@ 60&=  5000M kA AR 214, BB
198 16:00 ¥ 3@ 254k 5000M kA AR 2] AR A
199  16:00 9+ 30 &2  5000MiEd AR 2] AL EE] A
200 16:00 ¥ 35&m  5000MiEd. A F 2] AL EE] A
201 16:00 ¥ 3@ 40 &= 5000MiEd. AR 214, BE] A
202 16:00 93 45K 5000MiEA AR 2T BRET A
203 16:00 93 50 A& 5000MiEA AR VRS ¥ VIR
204 16:00 93 55&  5000MiEA AR 214, BE] A
205 16:00 9 60 A 5000MiEA AR 2] AR A
206 16:00 ¥ 65&x  5000MiEd. A F £ 54, BF5 4
207 16:00 ¥ T0 &= 5000MiEd. AR £ 34, BE3 A
208 16:00 ¥ T5&m  5000MiEd. AR 294 EIED A
209 16:15 93 80 A&m B (4006) A £G4, B 6 A
210 16:15 93 85Kk R (4006) AR £ 4,3 4
211 16:15 93 90 ke B (4006) AR £ 4 B4
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10* 11p (2&Hp) 06:30 BinEE

212 07:00 S~ 40 e 10000M g 24, FB2A
213 07:00 S+ % 45 ke 10000M - F ST A HBLA
214 07:00 <3 50f&=  10000M s 24, HFB2A
215 07:00 ~F % 60 &= 10000M s ST A HBLA
216 07:00 §3% 60&E  10000M g FTAEHBRTA
217 07:00 §+% 65&k=  10000M s L94, HBBA
218 07:00 §+% T0&=  10000M o L34, HBIHA
219 07:00 §3% ThpkE  10000M s L34, HBIA
220 08:00 ~ 3 Bkl 44 (1KG) o 214,514
221 08:00 ++ 2 60 ke B4 KG) s 44,44
222 08:00 ~ 3% 6h e 4BHKG) g 44,344
223 08:00 S T0gE B4 KG) g £ 24,524
224 08:00 ~3 % THhgle 4B KG) s £ 24,524
225 08:00 32 T0ke #4006 s £ 34,34
226 08:00 32 THile EHG0G) s 14,514
227 08:10 § 3 45 %= 10000M s ETAHBTA
228 08:10 §3% 50&k=xE  10000M s 24, BB2HA
229 08:10 § 3% S5 &kE  10000M - F £ 124, &B8 4
230 08:30 §3e 2pE  Z &P s £6A,B~6 4
231 08:30 §3e 20kE Zmpri g 214,514
232 08:30 3 0p,kE = mpri s EQ2A,B2 4
233 08:30 §3 e 3RE = mprii s 14,514
234 08:30 §+% S50&kE 43R (6KG) s T ABTA
235 08:30 §3% ShjkE A3k (6KG) s L TABTA
236 08:30 §+2 60&E 46006 AR £ 84,584
237 08:30 §+% 65&kE 600G g £ 84,5814
238 08:40 ~F3 e 25 ke 4BH(1KG ) g 14,514
239 08:40 ~+ e 3Bl  HHEKE) s 44,544
240 08:40 ~3 2 50 ke 4 KG) i 44,44
241 08:40 32 A0ge  HBHEKE) s 44,44
242 08:40 +3x AH e BHKG) s 44,44
243 09:00 §3 25%&x 10000M s o FTAHBRTA
244 09:00 §3% 30&xE  10000M g L34, HBRIA
245 09:00 §+% 35&k=  10000M s FTAHBTA
246 09:00 §+% 40&=  10000M s L84, HBBA
247 09:10 F3e 40kE = mprii s £ 34,34
248 09:10 §3% 45k = PR s £ 54, B~H 4
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249 09:10 § 32 H0kE = mpE 3 £ QA B2 4
250 09:10 §3 & HhkE  ZmpE - F QA B2 4
251 09:25 g3 T0k= 4azk(4KG) - F EQ2A,B2 4
252 09:25 § 32 ThEkE  4aznk(4KG) - F £33 A, B34
253 09:30 ~ 3k 25klE HFEPE g E1A,B1 4
254 09:30 F3 DKkE  HFEPI s £ HA,BH A
255 09:30 32 3kE WHEPI g £ 1 A,B1 4
256 09:30 32 A0kE WX s EQ2A B2 4
257 09:30 §32 4bkE WX o EQ2A B2 4
258 09:30 32 H0kE HEPI s E 4 A B4 A
259 09:30 §3+2 bhkiE HEPI o E1A,B1 4
260 09:30 F3e 60kE HEPB s £ 3 A, B34
261 09:30 3 6OhkE HFEHF g £ 3 A, B34
262 09:30 32 80kE HEPF - F 21 ABT A
263 09:30 § 32 60%kE &3k (0KG) s £ 8 A, B84
264 09:45 § 32 80fkE 445k (3KG) s £ 6 A,B6 4
265 09:45 § 32 90 kE 445k (3KG) s £ 3 A, B34
266 09:50 g2 50 ke 400MHCO. 840M) A% E4A BB
267 09:50 g5 55 400MHCO. 840M) A% 24 BIRE2
268 09:55 g5 24 e 400MHCO.914M) A% 24 BBE2
269 09:55 g5 25 fx  400MHCO.914M) A% 1A HERI]
270 09:55 g3 30 &= 400MHCO.914M) A% £1 A, 8B
271 09:55 g2 35k 400MHCO. 914M) - £1 A #R]
272 10:00 g2 40 ke 400MHCO. 914M) A% £1 A, #R]
273 10:00 g2 45 ke 400MHCO. 914M) A% E4A BB
274 10:00 § 32 6bfkE &3 (0KG) e £6A,B06 4
275 10:00 3 Bk g o 214,814
276 10:00 S 3 30 ke Z apriE 3 £ 1 A,B1 4
277 10:00 L3 40 ke = apriE o £ 1A, 14
278 10:00 ~ 3 50 ke Z apriE - £ 14,814
279 10:00 S 80 ke =z mprid - £ 1 A,B1 4
280 10:00 ~ 3 8kl = apriE - 14,814
281 10:00 §3m 80fkE = &piE - F EQ2 A B2 A
282 10:00 § 32 8hkiE Z mp s 14,514
283 10:00 §3+x 90 kE = mpei s 214,514
284 10:10 g2 60 k= 300MHCO. 762M) - ETAERT
285 10:15 43 50 &= 300MHCO.762M) A% £1 A #R]
286 10:15 g2 65k 300MHCO. 762M) - L34 BEBES
287 10:15 g2 70 k= 300MHCO. 762M) - 24 BRE2
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288 10:20 F+x 50f%&= 4k (6KG) - F B A,B6 A
289 10:20 g+ bHhkE  4ank(6KG) A £ H A BH A
290 10:25 43w 70 &= 200MHCO. 686M) g 1A ERLA
291 10:25 §3e 702 43R (4KG) s x4 A, B4 4
292 10:25 §3e THRE 43R (4KG) s 24,24
293 10:35 S 3w 25 ke 200M AR E1 A EBELA
294 10:35 A3 30 ke 200M - F H3A BRI
295 10:35 A3 35kl 200M s E1AERELA
296 10:35 S 40 e 200M s 24 EIBE2A
297 10:38 S 45 ke 200M - F 24 BIBE2A
298 10:38 L3 50 FKkE 200M o E1 A HERLA
299 10:38 4~ 3= bHhkE  200M AR LR34 BRI
300 10:38 ~ 3= 60 KkE 200M g E1 A ERELA
301 10:41 A3 70 ke 200M - F E1AHBLA
302 10:41 A3 THhEkiE 200M s E1 A ERELA
303 10:41 A3 80 ki 200M - F 24 EIBE2A
304 10:41 S 8h gkl 200M - F E1AERLA
300 10:44 §3 2 24,z 200M s H8 A, HREZA
306 10:45 F3e 60 ke = mprid g £ 3 A, B34
307 10:45 F3 6hkE ZmpriE - F £6A,B0 4
308 10:45 F3x T0kE = mpe s HQ2A,B2 4
309 10:45 3 THhke =z BmpiE A H 3 A, B34
310 10:47 F3 20 fkE 200M AR K104, 4 28 BES A
311 10:53 32 30k 200M :‘i—% E4 A FRLA
312 10:56 32 3Hpie  200M s ETAHERTA
313 10:59 F32 40Kk=  200M e L5 A HBEH A
314 11:02 g3 45,2 200M A7 ETAERTA
315 11:05 F3® 50/k=  200M PEAE 294,428 HHEEL
316 11:05 F+® 60f%=  4a3k(5KG) - F HE 4 A B4
317 11:05 § 3% 6bkE  4azk(5KG) s EBA,B6 4
318 11:11 §3 % bHgiE  200M i L6 A, HEO6A
319 11:14 §32 60 200M s 4 FRLA
320 11:17 §32 6bgi  200M s L5 A FHBEHA
321 11:20 32 70X 200M s o EA4A ER4LA
322 11:23 32 THgie  200M g E34A, BRI
323 11:23 g3 B0&kE  200M s 24, BIBE2A
324 11:23 g3 90 &kE  200M s £ A ERELA
325 11:30 ~ 3 e 25%kE 800M ;‘i—% E 1A, B~1 14
326 11:30 L3 30 FkE 800M s E 1A, B~1 14
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327 11:30  +3& 35%&%  800M A TR R
328 11:30  + 3 40 &z 800M o 534,534
329 11:30  +3 & 45&x  80OM g £B A, BB A
330 11:30  ~3 50 &%  800M g ERIRN S I
331 11:30  +3 & 55&%  80OM g ERIRN S I
332 11:30  ~3 60%&%x  800M g ERIRN S
333 11:35  §3& 24&x  800M A CRRN R
334 11:35  §3 & 25%&x  800M A CRRN R
335 11:35  ¥3& 30 &z  800M A £ 5 AL, B5 A
336 11:35 73 35%%  800M g T AL BT A
337 11:40 73 40 &= 800M g £11 4,58
338 11:40 73 45&x  800M g E 5 AL BG4
339 11:45 73 50 &= 800M g T AL BT A
340 11:45  §3 % 55&%  80OM A 5B A, BB A
341 11:45  ¥3 % 60 &z  80OM A CRRN R
342 11:45 93 = 30 k= 4as(T.26K0) i3 ERRN SR
343 11:45 95 = 35k=  4asp(T.26K0) P ERRN R
344 11:45 73 40k 4ash(7.26K0) AR E4 A B4
345 11:45 73 45k ash(7.26K0) AR ENRN R
346 11:50 73 65&x  800M AR ENRS
347 11:50 73 T0 &= 800M g 534,534
348 11:50 ¥ & T5&m  80OM A TR R
349 11:50 ¥ 80 &x  80OM A CRRN R
350 11:50 3 90 &= 800M g ERREN SR
107 110 12:00 kL™ R 1230 3 < e sb ¢

351 13:00 &3 AEdm 1600 2 <44 AR R RN E S
352 13:00 43 35 &% s (4KC) g 94, B2
353 13:00 43 40 &k ghsd(4KG) A 534,534
354 13:00 43 45Kk ghrd(4KG) A TR R
355 13:15 ¥l AEsle 1600 2 T4 AR B LR
356 13:30 73 24 &m  3000M s kP E1ABEDA
357 13:30 ¥ 25&m  3000MHE AR A1 R
358 13:30 ¥ 35&m  3000MHE AR £ g2 A
359 13:30 T 40 &= 3000MHEe AR 234, EEI N
360 13:30 T 45 &= 3000MHE AR 234, BESA
361 13:30 73 50 &k 3000M e kR 234, BESA
362 13:30 73 554k 3000M e kP SRR Y YR
363 13:40 43 50 &k 4asd(3K0) g 534,534
364 13:40 43w 55 & 4asd(3K0) e 294,21
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365
366
367
368
369
370
371

13:40
13:40
13:40
13:45
13:45
13:45
13:45

43w 60w 483k (3KG) A 234, B3 4
L3 w65 & 4asp(3KG) A £ 4,8 4
L3 m 70w 4ask(3KG) e £ 4,8 4
3w 35k 2000MHE AR 29X IR
75 60 &% 2000M Mg AR £ 34 53
73 654w 2000M M@ AR 214 BB
73w ThAE  2000M Mg AR 214, 8B

14:30 BFHR-pALAY sp5 T ~ % 2 L8480
e P ERL L (R 5 F 30350 v AF 100 )
See You again X k) %6
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20207ﬂ'§§;+b 2HF FYAR
ﬁ BE Lz
% 1. Akebono = * §5 B
K§ F 2>
CHP IR o3 (o G | S A LY 8
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